
- 2x Grille mounting brackets
- 2x Cutter guide
- 4x M6x55mm Stainless bolt
- 4x M6x16mm Stainless bolt
- 4x M6 Stainless washer
- 4x M6 Stainless nut
- 1x Fitting instructions.- 1x Fitting instructions.

INCLUDED IN THE KIT TOOLS REQUIRED

2 Använd bifogad mall för att märka ut var den horisontella ribban 
  i grillen skall kapas. 

2 Use the attached template to mark where the horizontal lath
in the grill will be cut.

3 Cut out.

EN

3 Utskärning.
  

SE

5 SMART MOUNT är nu monterat.

5 SMART MOUNT is now mounted.

1 Montera framsidan av SMART MOUNT fästena på rampen med bifogade
  skruvar (M6x16).
  

1 Mount the front of the SMART MOUNT brackets on the lightbar with
  the attached screws (M6x16).

INSTALLATION PROCESS

VW AMAROK 2024-

- SMART MOUNTNEAT

54

3

1 2


